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Y)EiEE A=610.556m

A=
+
+
M =
EEE=

4.08 + 117.21 + 179.00 175.69
200.28 + 248.65 + 399.04 + 655.69
654.79 + 610.55 = 324498 m
1.144
3244.98 X 1.144 = 3712.257 m
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160.35
26.75 @
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7.1 + (
8.5 X
04) X
0.95 X
46 + (
5.279 X
46 + (
4414 X
46 + (
5172 X
46 + (
5.138 X
04) X
0.50 X
37 + (
3.45 X

0.85
15.00

10.00 @ +

0.95
16.79

1/2
7.10
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10.00

0.50
10.00

0.50
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1/2
6.90
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X

X

= 15.00 m
04)
= 160.35 m
= 18.60 t
= 0.116 t/mi
= 4354 m
10.00 @ = 40.00 m
= 16.50 m
= 10.00 m
04)
= 209.61 m
8.5
2194 = 301.48 m
04)
= 46.76 m
04)
= 42.86 m
04)
= 46.27 m
04)
= 4612 m
5.122
114 = 77.36 m
04)
= 3131 m
V= 801.78 m
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PC-L B! jEEx
H=2.00m R%A~J
L= 2.0
H=1.90m R%A~J
L= 2.0
H=1.80m R%A~J
L= 2.0
H=1.60m R%A~J
L= 2.0
H=1.50m R%A~J
L= 2.0
H=1.30m R%A~J
L= 2.0

kg

kg

kg

kg

kg

kg

kg

kg

209.61

301.48

46.76

42.86

46.27

46.12

717.36

31.31

20

20.75 t

2912 t

590t

550 t

586 t

585t

9.65 t

297 t

0.0990 t/m

0.0966 t/m

0.126 t/m

0.128 t/m

0.127 ¢/m

0.127 ¢/m

0.125 t/m

0.095 t/m

20 m

20 m

20 m

40 m

20 m

20 m
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h=2.0m A=
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h=2.0m A=
h=aom A= —
h=aom A= —

h=2om A= —

RBi5T
A=

RAAT
2.0

RAAT
2.0

DRAT
2.0
DRAT
6.0
DRAT
6.0
DRAT
3.35
DRAT
6.0
DRAT
8.0
DRAT
6.0
DRAT
8.0
DRAT
40

0.839
5.433
5.433
5.109
5.176
5.165
5.433
0.671
4.874
4.874
2.638
2.46
2.45
1.772
1.342
1.008
4.874
2.638
2.638

889.117

X X X + + + + + + + + + X + + + + + +

8.0

10.0

5.433
5.433
5.322
5.109
5.165
6.339
243
4.874
4.874
2.638
2.638
2.45
1.772
1.342
1.008
0.559
0.592
417
0.09

— N N

—

X X X X X X

X X X X X X X X X X X X

1/2
1/2
1/2
1/2
1/2
1/2

1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2

X X X X X X

X X X X X X X X X

71
11.05
33.92

30

1.6

24

12.32
58.926
3.34
4.6
8.96
15

15
6.84
9.2

20m

20m

20m

6.0 m

140 m

3.35 m

6.0 m

8.0 m

6.0 m

80 m

140 m

22.266
60.035
182.405
153.27
39.296
13.805
-13.202
34.157
287.205
12.545
12.135
21.997
31.665
23.355
8.037
7.208
—-1.443
-5.5
-0.119
889.117 m

889.117 #ipmi
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H=50%47

V= 0.369
H=4.0m% 4~

V= 0.366
H=2.0m% 4~

V= 0.358

fRAa291)—k
V= 889.117
EiAav9)—b+
H=5.0214"

waD-@ V=( 0
wEe-@ V=( 1.264
wEe-0 V=( 1.264
wEe-0 V=( 0
wEe-@ V=( 1.264
wEe-6 V=( 1.205
wEe-© V=( 1.205

H=4.0m%&4~
wE®-0 V=( 0.761
wED-®© V=( 0

wEe-® V=( 0.726
wEe-® V=( 0.726
wao-© V=( 0
wEe-0 V=( 0.726
wEd-@ V=( 0.726
wER-® V=( 0.605

wEd-® V= ( 0
wED-® V= ( 0.404
wEG-® V= ( 0.404
wEG-® V= ( 0
wEe-0 V= ( 0.404
KAt (BBA)
H=50@
V= 0.325
H=5.0®
V= 0.325
H=50®
V= 0.325
H=40®
V= 0.327
H=4.0®
V= 0.327
H=40®
V= 0.327

X

+ o+ + + o+ o+ 4 X

+ o+ + + o+ o+ + o+ o+ o+ o+ o+ o+

0.155

0.160

0.179

0.22

1.264

1.264

1.264

1.264

1.205

1.467

0.761

0.726

0.726

0.726

0.726

0.605

0.404
0.404

0.404
0.404

3.366

4.339

4.397

4.217

3.151

3.900

R N N N I N e D

X X X X X X X

X X X X X X X X X X X X X

1/2

1/2

1/2

1/2
1/2
1/2
1/2
1/2
1/2
1/2

1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2
1/2

X X X X X X X

X
X
X
X
X
X
X
X
X
X
X
X
X

62.07

109.186

55.00

71
8.62
2.43
2.43

31.49

7.6

24

30
12.32
14.13
0.296
0.296

44.204
1.26
2.08
2.08
0.17

0.045
0.045
2.25

2 V=

fRA - FsAHaL D) —hEEH I V=

18.15

33.92

10.00

30

26.45

47.54

X

1.775

3.197

1.762
6.734

195.61

2.244
5.448
0.768
0.768
19.902
4.579
1.603

11.42
2.236
5129
0.0537
0.0537
16.05
0.419
0.315
0.210
0.0343
0.0045
0.0045
0.4545

267.292

21.84

38.58

14.72

34.54

29.93

51.77

3. 3.

3.

3.3.3 3.3 3 3.

3333333333333 3

3.
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H=4.0 @

V= 0.327
H=4.0®

V= 0.327
H=2.0m

V= 0.335

kK3 )—k

H=50%47

V= 0.325
H=4.0%47

V= 0.327
H=20%47

V= 0.335

HiFEao)—kT
H=50%47

V= ( 0.20

X 1/2
H=4.0%47

V= ( 0.20

X 1/2
H=20%47

V= ( 0.20

X 1/2

gLavs)—k
H=5.0447
V= 1.05
H=4.08247
V= 0.90
H=20447
V= 0.63

HEERAR
H=5.0447
V= 1.05
H=4.0447
V= 0.90
H=20447
V= 0.63

1.000 X
2.031 X
1.102 X
0.05 X
0.05 X
0.05 X
0.56 + (
075 ) x
0.5 + (
06) X
0.36 + (
033) x
0.1 X
0.1 X
0.05 X
57.21
105.02
55.00

2.26 X =

2.25 X =

55.00 X =

57.21 =

105.02 =

55.00 =

0.56 + 02)
57.21 =

0.50 + 02)
105.02 =

0.36 + 02)
55.00 =

57.21 =

105.02 =

55.00 =

2 A=

3.59

4.61

56.44

256.02

0.930

1.717

0.921
3.57

22.71

32.56

9.04

64.31

6.01

9.45

1.73

17.19

60.07

94.52

34.65
189.24

3. 3.
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NO.

Hl-nERE
H=8.0

X X X X

1Ekaro)—k
V=

e e R
A= (
A= (

20.620

0.80
20.62
8.539

1/2
1/2

4.626
7.2
7.739

0.3

6.066
9.547

X X X + X

3.493
2.5
13.42
8.539
5.426 )

7739 )

0.300

0.05

9.547 )
9.547 )

X + + + +

(«

3.70)
0.45)
2.5
2.5

1/2

1/2

20.62

20.62

1/2
1/2

X + + X X

X

1/2
1/2
0.45)
0.45)

0.3

12 =

1342 =
2A

20.620 m

302.51

13.35
47.87
61.23

0.309

56.207

128.121
184.328

3. 3. 3.
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NO.

PR
FRiEB 1134.9
+ 6789 +
+ 715
FRiEB’ 4887.2
+ 2766.7  +
BERL
&/MERLIE4.0mELE
5569.4  +
=AERLIE4.0mLLE
1443  +
BXRERELIEI.OMLL E40mEH
260 +
+ 147.0
RAERLUIE.OmEKHE
229 +

RAERLIE4OMLL E (BEEEH)

631.0

LA
140480 -

1403.5
239.2

1039.7

511.4

462.0

1919.5

42.0

12041.9

100.0
206.0

462.0

239.0

94.9

26.8

440

0.9

+

14.0
2941

239.0

3204.7

97.3

2.0

14048.0

4142.0

9906.0

12041.9
94751

2158.7

2971

110.9

631.0

668
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NO.

BUGITHERES L T
DO~Qf EMHE L= 32.8 m (A—F—EHakR<)
15.0 + 9.0 + 8.8 )
BRL (&NMERLIE4.OmELLE)
’yk A=169.8m
ERET
ERLET
#HRL (& = L84 OmiLL)
A=4. 4mi
N il /)
FR1EB
A=34.6m
FR1EB
V= 346 X 32.800 = 1134.88 m
FREB’
V= 149 x 32.800 = 4887.2 m
RIEET= 6,022.08 m
HBEREL &/MERLIE4.0mELE
V= 1698  x 32.800 = 5569.44 m
=RAERLIE40mMEL L
V= 44  x 32.800 = 144.32 m
BRLE= 5713.76 m
QX (a—F—&R{tir) 25.800 m
ERL (RAER LI OmiLE) ERET BRL (BAERELIE OmELE)
A“‘“"‘\\ A=31. 7nd
pedil\l”
_A=40. 3m
I EHFLB
A=54. 4m
FR1EB
V= 544 X 25.800 = 140352 m
FREB’
V= 403 x 25.800 = 1039.74 m
PRIEET= 2,443.26 m
HEREL RAERLIE4.0mLLE
V= 427 x 25.800 = 1101.66 m
V= 317 x 25.800 = 817.86 m
HERLE= 1919.52 m
3,839.04 m

20




©: X L= 20 m

BRL (RMERLIE Om L)

A=23.1m
HRL (RRERLE. O0mELE4 OmRiEm)
A=1.3m
BRET /
_ERIT g 5
FR1EB
A=5.0m
FR1EB
V= 5 x 20.000 = 100
FREB’
V= 231 X 20.000 = 462
RiEET= 562.00
BERL =/MERLIET.0mL E4.0mKE
V= 13 X 20.000 = 26
=/MERLIE4.0mLLE
V= 231 X 20.000 = 462
BRLE= 488.00
@XM 10.000 m
HBREL (&/MERELIE4 OmilL)
HBRL (RKERLIE. OmRKHE) A=23. 9
A=0.2m
ERET
ER1EB
A=1.4m
FR1EB
V= 14 X 10.000 = 14
FR1EB’
V= 239 X 10.000 = 239
FRERT = 253.00
BRL RAERLUIEL.OMEK
V= 02 X 10.000 = 2
=/MERLIE4.0mLLE
V= 239 X 10.000 = 239

HRLE= 241.00
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@®ER XEE L= 36.5 m

BRL (B/MERLES OmElE)
A=87.8m

Wi O
HRL (BRXERLE4L OmLLL)
A=2.6m
FR1EB
V= 186 X 36.500 = 6789 m
FREB’
V= 758 X 36.500 = 2766.7 m
RiEEt= 3,44560 m
BRL &/MERLIE4.0mELE
V= 878 X 36.500 = 32047 m
=AERLIE4.0mLLE
V= 26 % 36.500 = 949 m
HRLET= 3,299.60 m
DX (a—F—&B i) 20.620 m
ERET
/
ERET 7 HAEB
o A=24.8m
BEL (BRI 0L Om3K) A= \VT:% P o
FR1EB
V= 116 X 20.620 = 239.192 m
FREB’
V= 248 X 20.620 = 511.376 m
PRIEET= 750.57 m
BRL /MERLIE1.OmEL E4.0m3kiE
V= 13 X 20.620 = 26.806 m
RAERLIEIOMLL E (BEEH)
V= 306 X 20.620 = 630.972 m
HRLET= 657.78 m
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NO.

H5.0m
L

IR{EB

IR#EB

XiE&£ L= 5721 m
10 + 47.21
7" 0yhFEBEEEY) £h=5. Om4{7°

400

ar-

A=0. 4mi

HBRL (&XERELIEL 0mskiE)

HRL (&XERUEL 0miL L4 0mKiH)
A=1.7m

3.6 X 57.210

=/MERLIE1.0mEL E4.0mEKiE

17 x 57.210
R/MERLIET.OmKiE
04 X 57.210
BRUE =
XR& L= 105.02 m
7502+ 30

7 oyhFEBEEE Y] £h=4. Om447°

400

A=0. 4mi

BRL (RXERLUIEL 0mKiE)

BRL (&RKXERLIEL O0mLlE4 OmKRiE)
A=1.4m

28 X 105.020

=/MERLUIET.OmEL E4.0mEE

14 x 105.020
R/MERLIET.OmKiE
04 X 105.020

BRLE

205.956 m

97.257 m

22.884 m
120.14 m

294,056 m

147.028 m

42.008 m
189.04 m

57.21

105.02

93




H2.0m

IR{EB

XEE

BRL (&ZKERLEL OmRiE)
A=0. 8mi

L=

55 m

7" ny)FEREREY) £ h=2. Om44 7’

1.3

=/MERLIE1.0mEL E4.0mEKiE

0

=/MERUIET.0OmRKE

0.8

X

X

X

55.000

55.000

55.000

400

715 m
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NO.

BEMEXRLEOT
i HEM 400-400-20-35 283kg/m
L= 115 x 12
L= 16 X 40
L= 10.9 x 10

H#fl 350-350-12-19 137kg/m

L= 8.2 x 3
L= 115 x 13
L= 8 x 8
W= 887.00 x 283
W= 238.10 x 137
BMITHEAH H400$T ;A &
TAAE ImLT
20 + 3
ITHAHE 12mlUTF
50 + 4
ITHAHE 15mUTF
50 + 3
TAHFK 16mETF
40.0
BHiTEAH H3504T A&
TAAEK ImLT
20 + 5
TAHFK 12mBTF
40 + 13
HEmsIEhE
lERER 6mUT
N= 70 + 17.0
lERER IMmUT
N= 50 + 9.0
X  t=60 0.06m/m
A= 025 X% 15
XM t=50 005m/m
A= 025 X% 15

|

138.00
640.00
109.00

A= 887.00

24.60
149.50
64.00

A= 238.10

251.02
32.62
= 283.64

5.0

9.0

8.0

400

7.0

17.0

8.0

1835

440

m

m

t

T B S

P

40.0

240 K

620 &

688.1 m

165.0 m
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NO.

PRk EER T

REHEKIE

£NU-240 () L &R/ NERARLIE)

L=

+ 4+ + + + + + + *

BEU-240 (B% = ER/NERABIE)

L=

EFRU-240 (U1 1A RER)

L=

U-240 (AZHEER)
L:
+

HEBEK T (PN L3EmER #6EU-240)

2.70
494
8.00
18.28
15.34
9.40
6.20
9.40
9.5
24.62

336.0

5.49

52.4
9.86

L= 9.9
+ 114
+ 9.9
+ 114
ML 1.144
164.1
FTRYIEDHfFE
L= 18773
N= 62.58
Uiy tE
L=  187.73
N=  125.15

EEMT (QUY)-1E)

N=

16

+ o+ + o+ o+ + o+ o+ o+ o+

+

+
+
+

2.75
12.44
8.77
492
3.00
9.40
9.40
9.40
16.67
14.18

19.40

4.22
22.30

11.4
11.4
11.4

8.3

1.144

+ 4+ o+ 4+ o+ o+ o+ o+ o+

+ o+ o+ o+

12 F7/1.8m 0.6m/A

X

1.80
0.60

62.58
0.60

¥/ &R

7

X

8.92
4.08
4.86
19.40
9.40
9.40
9.40
9.40
19.40

36.26
21.42

9.9
9.9
11.4
8.3

187.7

0.60

+ 4+ 4+ 4+ o+ + o+ o+ o+

+ o+ 4+ +

3.3
4.74
4.62

19.40
9.40
19.40
9.40
7.83
19.40

14.6

9.9
9.9
11.4
8.3

391.06 m

336 m

2489 m

161.06 m

164.1

62.58 m
104 {@&

12515 m
209 {&

112 &

28




NO.

HEHEK T (BEERER) VAt &

L= 465  + 465 +
+ 4.65
FL 2.236
L= 2325 X 2236 =
N= 5199 =+ 060 =
#EEMARZs (500 X 1000t=3.2 W=26.79kg/n)
N= 5 X 2 =
W= 100 X% 05 X
THAHTH—(M12-100 47/#%)
N= 10 x 4

EHMT AV))-1+5) 3R/ &R
N= 5 X 3

INERER K Mt

N= 1 + 2 +

BhEHEER T

FiEYHEIE 300x300

L= 50 + 43  +
FHIEYAEIE 400 x 500

L= 86.8
FHIEYAEIE 500 x 500

L= 2120 + 396 +
A LAV MEE 400 x 400

L= 2480 + +
ART)a1—LA 600%!

L= 4.2 + 3.0
&K #t 800 X 800 X 1000

N= 1.0

18kt 15%x15%15

N= 1.0
25 kEith 30x30x%x15
N= 1.0
ISt 37%x37x%x15
N= 1.0
Tn5%E
N= 25 x 5

4.65 + 4.65
520 m

87 {&

28/ B R

10 %

1.00 X 26.79
+ 1
10

24 86.5

413

2325 m

133.95 kg

40 A

15 1%

34 -

2035 m

86.8 m

2929 m

248 m

72 m

1 &

1 &

1 &

1 &

125 {&

99




NO.

EET ¢ 400
L= 5.4
EET ¢ 200
L= 4.7
TD5%FIKkT
N= 10.0
+ 52.0

16.0
220

240

14.0

172 m

47 m

138.0 {&

60




NO.

15t

L e [
g8
L|EE
b 1621
AKX (KO90)
i ] HMR (230)
\ \ \
FAEY i
300 X 300
dq b
AR (t=30)
S
g
E
BRI (1230) a BAK (£O90)
24 1620 24 1620
1500 1500
MR (=30) MR (t=30)

V51.650 V57650
BETOI .
300 x 300 g _IREVRM
gj‘ﬁdﬂ@* 300X 300
g g g g /|l g
I I = ol -
22
V57250 #
avyy—tk
18N
g g|
g K
750 750 545 AKX (RE90) 750 750 ALK (RO90)

ARLK kO90 L=3.0m
N= 8.00 = 8.00 &

Wik t=30
A= 16 X 162 x 4 = 10.37 m

V= 162 x 162 x 0.10 = 0.262 m
Al

V= 1668  x 1668  x 1.60 = 4452 m
EEEBE

A= 1668  x 1.668 = 2782 m
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NO.

25k
=

2 3120 24
3000

HirAR (t=30)

‘ ‘ AKX (RO90) 2
FIBY | I HAALA (R E190)
500500 | 8

EERS .

T HAR (1=30) HEALK (RE190)
‘ ‘ AKX (RKE90) | I

R (t80) d
L%LJ AR (t=30)
o
2 3120 2 24 3120 2

3000
1R (+230) ‘

‘ — #M4R (t=30)

YR e 3
500 X 500 o g =
l v69.933 g g .
— o
= = avy)—+k
18N
e ALK (RD90)
WA AK RKHEA L=3.0m
N= 16.00 = 16.00 &
Wik t=30
A= 1.60 X 3.12 X 4 = 1997 m
av9)—k 18N
V= 3.12 X 3.12 X 0.10 = 0973 m
fiEE
V= 3.168 X 3.168 X 1.60 = 16.058 m
EEEE
A= 3.168 X 3.168 = 10.036 m
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NO.

3Lt

3820 2

3700

MR (+=30)

FIEVEIE

500 x 500

13820
700

AR (t=30)

LA (REA90) |

FEY B
400 x 400

AR (RA90)
|

A K (KE90)

A |
3 AR (t=30)
al

3820

3100 AR (1=30)

V62.600

| ‘ |
mnt(iuso)ﬁ\

MR (1230) 3100
V62,600

V61 351f g % §§ =
1
95 | 95 | o5 r— ALK (R O90)

AKX KO L=3.0m

N= 16.00
Wik t=30

A= 1.60 X 3.82 X 4
aro)—k 18N

V= 3.12 X 3.12 X 0.10
Al

V= 3.868 X 3.868 X 1.60
EEEIE

A= 3.868 X 3.868

16.00 X

24.45

0.973

23.938

14.961

m

m
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NO.

#WET
fliERE
U-240# %=

V=
U-450%
L=
V=

22.5 +
15.8
90.3 X
68.3
68.300 X

a9 — M EEYEE
ERHI)—MEE  t=10cm

V= 71 x
&kt 400 x 400 X 700
N= 1 +
V= ( 07 X
X 0400 X
&£k #tZE 600 x 600 X 600
N= 1 +
V= ( 09 x
X 0.600 X
H5ERK

o) — b HSERK
V= 3450  +
W= 9800 X

E|EFIVY) - TS E W

V=
W=

0.609
10.875 X

HMEE QLT —RE)

FZIE300
L=
FEIE400
L=
FZIE500
L=
FEIE700
L=
a5
W=

R 5 (R AR)
V=

70 +

137.1

5
176 +
265.3 X
5.000 X
688 X

29.7 + 2.3
0.0382
0.0929
0.1
1
07 X 0.85
0.700 ) X 2
1+ 1
09 X 0.75
0.600 ) x 4
6.350
2.40
1566 + 1,600
2.30
884 + 67.6
26
9.350 +  137.100
14.1 + 43.600
0.06 +  165.000

X

20

04

7.100

39.3

11.800
18.800

0.05

90.3 m
3.450 m

68.3 m

6.350 m

7.1 m

1.566 m

2352 t

3

10.875 m
250125 t

265.3 m

1371 m

50 m

436 m

4,989 kg

499 t

4954 m
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NO.

BRERL R ik
BEE%ikibith 40%x40%15 4000
4000
u8> pi:37%
B avy)—k
4000
YEH
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86




BrokiEQ i & & ()

1&xSY
H
S=1:50
D-D BrmE E-E ErmmX
7400 3600
730 1240 3460 1240 730 2180 1140 280
®’Tay 1 —EL BTay — £
oetnd N2 /7 g g S aree1s 0 W 4 g %
EERE /| EERE / c
RC-60 RC-60
680 1340 3360 | 1310 | eso 2130 1240 230
E
— E
1350 4700 L 1350
730 . 1240 3460 1240 730
D T D
L ls 1
8 7400
LoE
Fh KK FEERIK = 1] =%
¥Tay (7.4%x3.6+2x (1.24+1.14+2x0.15) x0.52%2) x0.05 = 1.611 me 1.6
18-8-40
HERA 7.4%x3.6 = 26.640 | m? 26.6
RC-50 t=60
Eily = 2% (7.4+3.6) x0.05+2 x (4% (1.24+1.14)+8 x0. 15) x0.52 = 12.249 | n? 12.2
HEJLZIL (7.20x3.40-2x1.24x1.14) x0.02 = 0.433 | m? 0.4
EXET
HEEEE 3.6x7.4 = 26.640 | m? 26.6

87




SEK IS

R

(1)

1HZY
@l @ A-A BRERE
830 230 o 7130
=] g a =
- E ] -
== | | 1 <)
. =" i
8 1= e
k—1240 = 5|
1840——| 1140
5500 1740 200
5700 600
100 000
F-F #r@EX
&
9230
|—’A
5500
Q Q
(>
6
| & ®
g o} o b &
E=n@s
[0] [0]
100
| LA
H ¥ X
D-D MRER $=1:50 E-E MiEmE
5700 3600
730 1240 3730 280 1140 2180
3 3
= o =% = =4
o ok=18.0 N/mm2 /| / S &t S g
HERR
RC-60
630 1340 3680 230 1240 2130
EFTrmEX
E
1350 4350
730 , 1240 3730
T=
D 8T D
Loig _t
.]_
]
3
3
N 8
b
5700
L.E

88




N £ =
FHKE T E E (2) 15my
% 7 H =1 = Bl # =
SEIKHEARIA % 1| =
’Tay (5. 70 x 3. 60+ (1. 24+1. 14+2 x 0. 15) x0.52 x 2) x 0. 05 1165 | w2 | 1.2
18-8-40
HERE 5.70x 3. 60 20520 | w2 | 205
RC-50 t=60
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